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. Translation: (10 points)

1. Translate the following terms into Chinese. (5 points)
1) May Day
2) Chancellor of the Exchequer
3) Rump Parliament
4) NAFTA
5) electoral college

2. Translate the following terms into English. (5 points)

1) Bk —iL
2) &
3) EKIER
4) M

5)  (FdbdkFrb ) e iR
II. Explain the following terms. (15 points)

1. Permissive society
2. “Eleven-plus” examination
3. Federalism

II1. Answer the following questions. (30 points)

1.  What English characteristic is reflected in this line of a famous English poem:
“Yours is not why but how™? Is this characteristic challenged in modern
society? Why or why not?

2.  What are the characteristics of the Middle Class in the United States?
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